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g The ﬁgures in the margm zndzcate full marks
Candldates are requlred to gwe thetr answers in thezr own S N RS

words as faras practzcable T

Choose the correct altemauves for the followmg»: o

1021"10

¥

k .,‘i)'v‘ : {_;If a, sct of attnbutes K m a relatxbn to schema Rl 1s
. »'aforeignkeytothhen V R ' e
| a) - every tuple of R1 has a dlstmct value for K
b Ki is key for seme other relatxon ':’5 r | S

: ' ¢ K cannot have a null value for tuples m Rl

' _;d) " K 1s & pnmary key for Rl
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. 'i.l) v' thch of the followmg features 1s supported m

frelattonal database model ? o |
*la-)'" | Complex data types _’ _ _' L

b) “3vMu1tl valued attnbutes o .
c) Assoczatlons thh multlphcmes ‘

o ed Generahzatxon relatlonshlps S e
; iy SQqua ; ..: S f_j o ,- ‘ ’

,_ "_a) ProceduralLang.tage S

0o .

| b) Non-procedural Language
| ) Complex Language |
‘ . d) None of theSe
) \'l‘he entlty mtegnty constramt states
| a) No pnmary key value can-be null , ’. .
, b) A part of the key may be null
c) ' Dupltcate object values are allowed
d) None of these . | . |
o v) _What is the default format of date in Oracle ?
o a) ' dd-mm-yy .. b} dd-m- yyyy
e L I dd-mon-yy Ca jd) " ‘none of these

v1) Whlch of the- followmg aggregate functlons works s
L ‘thh characters ? B |

) Max b) Avg L
¢ Count - id) None of theSe
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) . V'vn) If we do not spemfy the constramt name for a

constramt the default name 1s in the format .
- a)  SYS Cn e _b)_ Cn, SYS o
' : c) Cn S ’, d) None of these

| vm) The mformat:on about data ina database is called

:a) Teradata B Metadata ,
<) - Hyper data = - ~d) ‘None of these

ix), :Wthh data abstraction level specifies how data are

.. stored in database 7
. -a) - Physical . b)’» Loglcal
Q- Vlew S o d) None of these
" x) In traneactlon, a WRITE opetatxon wnll B
o a) - read data from table and wnte on buﬂ'er "
_b) - write on table |
o c) v‘depend on applxcat;on o
.d)  locka data for updatmg | 4
o  GROUP-B~ -
| Shon Anmr ’ryﬁe Qnutiou )

Studest °  Department

. [RolfPK) | Name | Deptid (FK) | [ Deptid (PK) | Dept Name_

1 ABC 1 A

s DEF S 2 .~ J B

GHI |

ool

JKL

. uin pos {omr
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o . i Answer any threeof the followmg 3 x,{S =15
2. -‘Tables:
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| What wﬂl happen 1f we. try to excute the followmg two
| SQL statements ? ' '

~

o lee proper explanatlon for your answer.

s a)’ 'Update Student set Dept 1d = Null where Roll

no=1;

b)) A.Update Department set Dept 1d ‘Null where Dept

: _~1d=1

-Let R (a,b ,C) and s (d,e,i) be two relatxons in whxch dis

- the FK of 8 that referes to the primary key of R. Whnch :

.of the followmg is true about the Referentnal mte;,nty |

," o constraint ? Give proper explanatlon for your answcr for
Sy choosmg or not choosmg each of the optnon '

a) Insert. intoR b) Insert into S c) Delete from R

> fd) Delete from S.

- f_Let El and E2 be two entxtles in an- E-R dlagram with
- simple valued attrxbutes RI and R2 are two relations
~ between El'and E2 Where RIis one-to-many and R2 xsj ;

theu' own. What is the mlmmum ‘number of tables

, requxred“ to - represent the situation ‘in- ‘the relatmnall
'model ? lee proper explanatxon for your answer.

:'All pnmary keys are super key but the converse 1s not ,

- - true'. Explain with exarnple
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GROUP-C
( Long An:wer ‘rype Queetions )

Answer any three of the followxng 3 x 15 45‘ N

| Construct an E-R dlagram for a hospltal with a set ‘
of panents and a set of medxcal doctors Assoczate

thh ‘each patlent alog of the ‘various: tests and

'~exam1natxons conducted. . 8

example. - . 3

What is. Metadata ? Explam w1th the help of a

.'f,Differentiate'-, -between Delete and.  Truncate
operations e S R T 4

7. 'Conslder the followmg schemas ' S

| _'Employee ‘master (EmpNo, Name, Job leedate, Salary,

" Perform the followmg quenes on table (wrlte appropnate -

SQL statement) (anyﬁve) ; R 5x3, e
 a) Llst all employees names and _]ObS whose jOb.-'
) 1ncludes 'M"or 'P'. |
" b) List all employces names and thexr salanes whose\ 8
 salary lies between 15000 and 35000 (usmg
' between clause)
4/40027 s =" [Turnover

s '_'1_‘manager id, Dept no, Age, E sal)
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c)i‘. Lxst all employees names, salanes and 25% raise ‘_

P in salary.
d) Find how . much amount the company is spendmg o
: 'towards salary head

._e).' : "Lxst all employees names and theit‘ manager 1d
| 'A_whose manager 1d is 7902, 7566 or 7789 |

g

o List the dlfference between rmmmum and'

L) o

= max:mum salarxes of employees |

S 8 ;' What is functlonal dependency ?. Explam with example
L Deﬁne INF, 2mi NF, 3rd NF and BCNF with example |
.‘ | , | v.  3+4+8.’
9 “a) "Wnte and explam GROUP BY, LIKE, st'rmc'r»
~ INNER JOIN and UPDATE commands in SQL Aso

. give. one example for each

Tow

: b) :’_,Explam ACID properties | L - 10 + 5 | |

)L

B 10 _Wnte short notes on any three of the followmg
, a) Multl-level 1ndex 2 o
) Loglcal data mdependence and physlcal data » L
S mdependence o ' N
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